Nombre

Fechas Curso

Resuelve

8 X 4 =

32

6 X7 =

3 X3 =

4 x 9 =




Nombre Fechas Curso

Resuelve

2 X 10 = 0O x 09 =

5X6= 7)(3:




Nombre Fechas Curso

Resuelve

6)(6: 4)(7:

6)(2: 2)(2:




Nombre Fechas Curso

Resuelve

10 x 4 = 3 x4 =

5)(5: 8)(2:




Nombre

Resuelve

__X__= —_X__=

\
X
\
1
\
X
\
1




Nombre Fechas Curso

Resuelve

9)(2: 3)(9:

8X6= 2)(7:




Nombre Fechas Curso

Resuelve

5)(2: 9)(8:

8X8= 6)(9:




Nombre Fechas Curso

Resuelve

4 x 4 = 5x9

/] X7 = / X 4




Nombre Fechas Curso

Resuelve

9X4= 6)(8:

3)(5: 7)(9:




Nombre Fechas Curso

Resuelve

/] X6 = 2 X 10 =

8)(6: 2)(7:




Nombre Fechas Curso

Resuelve

5)(2: 9)(8:

8X8= 6)(9:




Nombre Fechas Curso

Resuelve

4 x 4 = 5x9 =

7)(7: 7)(4:




Nombre Fechas Curso

Resuelve

9)(4: 6)(8:

3)(5: 7)(9:




